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VY4eOHoe mocodue cocTaBaeHO B COOTBETCTBUU C IPOTPAMMOM MO aHIVIMHCKOMY
s36IKy. OHO TIpeIHa3HAYEeHO AJIs yJaluxcsi 00pa3oBaTeNbHbIX YUPEKICHHHI
cpeaHero npogecCHOHATBHOTO 00pa30BaHMsl, a TAKXKE MOXKET OBITh MOJIE3HO AJIs
IIPENOIaBaTeNIeH aHIVINUCKOTO S3bIKA.

BBE/JIEHHE

JlanHO€e yueOHOe mocoOue MpeIHa3HaueHOo ISl CTYAEHTOB CPEIHUX CHEMAIbHBIX
y4eOHBIX 3aBEJICHUM, U3yUaIOITUX aHTJIMUCKUM SI3bIK.

]_ICJ'IB ocoous — YCBOCHHC I'PAMMATUYCCKUX SIBJICHUM COBPCMCHHOT'O AHTJIMCKOTO
SA3bIKA, pa3BUTUC HABBIKOB ITMCbMaA Ha Oaze I[aHHOﬁ FpaMMaTquCKOﬁ TCMBI.

OHO npegHa3HAYEHO ISl Ay IUTOPHOU U CAMOCTOSITEIbBHOM paOOThI CTY/I€HTOB.

[Tocobue copepKUT TEOPETUIECKYIO0 HH(POPMALINIO, TPEICTABICHHYIO B KPaTKON
¢dopme. IIpakTnueckuil aciekT nocoOusi, HapaBJICHHBIN Ha 3aKPETICHUE
TEOPETUYECKOr0 MaTepuaia, BKIOYAeT YIIPaKHEHUSI HA TPEHUPOBKY aKTHBHOM
IrpaMMAaTHKH.



OYHKIMUA TJIAT'OJIA TO BE

Infinitive  Present Past Participle | Participle 11

to be am, is, are was, were being been

Kparkue dopmer: | am not = I'm not; is not = isn't; are not = aren't; was not =
wasn't; were not = weren't.

['naron to be B npeaiokeHN MOXKET ObITh:

1. CmbiciioBbIM (OBITH, HAXOUTHCS):

There are several political parties in this country.

B 310l cTpaHe ecTh (CylIECTBYET) HECKOIBKO MOTUTUYECKHUX MMAPTHM.

2. CBSI30YHBIM - B COUETAaHUU C CYIIECTBUTEIbHBIM, IPUJIAraTeIbHBIM UIH
YUCJIHUTENbHBIM 00pa3yeT COCTaBHOE MMEHHOE CKa3dyeMoe. B HacTosiiem BpeMeHu
to be B 9T0#1 QYHKIIMK HE IEPEBOIUTCS:

He is the best student in our institute.

OH sy4iasi CTyZIeHTKa Halllero HHCTUTYTA.

The job was very hard.

Pabora Obu1a 0YeHb TPYAHOM.

3. BcrioMoraTenbHbIM (HE IEPEBOAUTCS):

a) ¢ npuvactuem | st o6pazoBanus Bpemen Continuous:
We are discussing the contract now.

Me1 ceituac 00CyK1aeM KOHTPAKT.

0) ¢ mpuuactuem Il nnst o6pazosanus Passive Voice:
This work will be finished tomorrow.

Orta paboTa OyJeT 3aKOHUYEHA 3aBTpa.



4. MonanbHbIM (BBIpaXKaeT JOJKEHCTBOBAHKE) B COUETAHUH C UH(PUHUTUBOM
JPYroro riarojia:

The work is to be done well.
Ota paboTa A0KHA OBITH BHITIOJIHEHA XOPOLIO.
They are to return on Saturday.

OHu JOKHBI BEPHYTHCS B CyOOOTY.

OYHKINN TJIATOJIA TO HAVE
Infinitive  Present Past Participle | Participle Il
to have has, have had having had
Kparkue popmer:  Have not = haven't; has not = hasn't; had not = hadn't.
['maron to have B npeyIo)KeHUH MOKET OBITh:
1.CMBICIOBBIM (MMETh) B COYETAHUU C CYIIECTBUTEIIbHBIM:

The newly made invention has a great number of uses. ¥ s3Toro coBpeMeHHOT0
M300pETeHHS] MHOTO PUMEHEHHUH.

BwmecTto rimarosna to have B 3HaueHUH HMMETh YacTO YHMOTPEOIseTCs coueTanue to
have got:

Have you got a lecture today? Y Bac ecThb ceroaHs JeKuus?
I've got some news for you. YV MeHs (ecTh) HOBOCTD JijIs TEOSI.

2. BcnomoraTtenbHbIM (HE MepeBOAUTCS) - ¢ npuvactueMm I cMbICiIoBOro
riarosia s oopaszoBanus Gopm Perfect.

They have used semiconductors for reproduction of sounds.
OHU UCNIOJIB30BANIH MOTYITPOBOIHUKH JIJIs1 BOCIIPOM3BO/ICTBA 3BYKOB.
3. MopanbHbIM  (JIOJKEH, MPUXOJUTCS) C MHPUHUTUBOM APYroro riaroia:

They have to work hard if they want to study successfully at the Moscow
University.



40 MPpUXOAUTCA OYCHb MHOTO TPYIUTHCA, YTOOBI YCIICIIHO YYHTLCA B
MOCKOBCKOM YHHUBCPCHUTCTC.

Do you have to get up early? Bam npuxoauTcst paHo BcTaBaTh?

4. B coueTaHuu ¢ CyIIECTBUTEIbHBIMHU.

The British businessmen usually have dinner at our restaurant.
buznecMmeHs! u3 BpI/ITaHI/II/I O0OBIYHO 066,[[8,}0’1‘ B HAIICM PCCTOpaHC.
HaunbGonee pacpocTpaHeHHBIMHA COYCTAHUSIMU SBIISTFOTCS:

have breakfast/ lunch /dinner/a meal/ a drink/ a swim / a walk/ a rest etc.
5. B koHcTpyKnusax to have + cymecrBurensHoe + Past Participle

| had the blank filled yesterday.

A 3anonaun 6;ank Buepa. (Mue 3anonHuM 61aHK BuYepa.)

6. B koHCcTpyKIMSIX to have + cymecTBuTeNnbHOE (MIIM MECTOMMEHNUE) +
WH(PUHUTHB

| have some documents to read.

MHe Hy»KHO IPOYUTATh HECKOJIBKO TOKYMEHTOB. (Y MEHS €CTh HECKOJIBKO
JTOKYMEHTOB JIJISl UTCHUS).

OYHKIHWU I''TAT'OJIA TO DO

Infinitive  Present Past Participle | Participle IT

to do do, does did doing done

Kparkue dopmer: do not = don't; does not = doesn't; did not = didn't.
['aron to do B mpeayioxKeHUsIX MOXKET OBbITh:

1. CMBICJIOBBIM (I1€)1aTh).

They usually do this work at the office.

Onu 00BIYHO AENAI0T 3Ty padoTy B oduce.



2.BcioMorartenbHBIM (HE IEPEBOTUTCS) B COUETAHUU C HHOUHUTHBOM
CMBICJIOBOTO TJIarojia 0e3 4acTHIIbI to 111 00pa30BaHUS BOMPOCUTEIHHBIX
otpuratenbHbIX popM Present u Past Indefinite:

How does he get to college?

3. YcunutenbHbIM, €CIH ynoTpeOasieTcs: ¢ MHGUHUTUBOM 0€3 to B
YTBEPAUTEILHOM IMPEII0KEHUU. Y CUIIEHUE CKa3yEMOr0 IOCTUTAETCsl B PYCCKOM
SI3BIKE C TIOMOIIBIO CJIOB ICUCTBUTENIBHO, (PaKTUUECKH | JIp:

He does (did) speak English fluently.

OH AefCTBUTENBHO TOBOPUT (TOBOPUIT) O-aHIJIMICKHA CBOOOIHO.

VYnpaxuenue 1. [TocraBbTe cooTBeTCTBYMOMIYIO hopmy to be .
1.My uncle ... a director of the large company.
2.He ... often on a business trip.

3.Yesterday he ... in France.

4. Tomorrow he ... in England.

5.Last week he ... in Spain.

6.Now he ... at home with his family.

7.His daughters ... so much excited.

8.The students ... at the hostel now ?

9.My sister ... not at work next month.
10.Where ... your mother now?

11. He ... not a pupil 20 years ago.

12.We ... at this place last week.

VYnpaxuenue 2. [ToctaBbTe cooTBeTCTBYOMIYIO (hopmy 10 be cormacHo BpemeHwH,
yKa3aHHOMY B CKOOKax.



1.Her car broke down yesterday while she ... driving to work. (Past
Continuous).

2.Who ... speaking there? (Present Continuous)

3.We ... flying over Paris at this time tomorrow (Future Continuous).

4.She has ... doing her homework since morning (Present Perfect Continuous).
5. T'had ... working in the garden before he came (Past Perfect Continuous).

6. The flex .. grown in the fields (Present Simple Passive).

7. The door ... painted yesterday (Past Simple Passive).

8. When | came into the laboratory, the lab had already ... tested the device
(Past Perfect Passive).

9. The bridge ... repaired now (Present Continuous Passive).
10.The photos ... shown the whole evening (Past Continuous Passive).

Ynopaxuenue 3. [lepeBenute Ha pycckuii si3pik. Onpeaenute GyHKIuUH riiaroia to
have .

1.They were having dinner when | came.

2. We have already seen this film.

3. Did you have a good rest last summer?

4. The students had to translate this text in time.
5. He had his watch repaired yesterday.

VYrpaxsaeHue 4. 3anoIHATE MPOITYCK COOTBETCTBYIOMIEH (hopmoii riarona: to be,
to have, to do.

1. This book ... a good introduction (have, am having, has).

2. He... no mistakes in the last test (had, will have).

3. 1... get up very early because my morning exercises take more than 20
minutes (has to, have to, is having).

4. We... grown a lot of vegetables this year (have, am having, has).

. ... you buy the book yesterday? (do, will do, did).
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6. I...not always ... morning exercises (does, do, did).
7. She ... not a student last year (is, am, was).
8. I looked out and saw that it... raining (is, was, will be).
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OraBieHue
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. BBenenue.

®dyukuuu Taarona to be.

Oynkuuu Taarona to have.

®ynkun rnarosna To do.
YrpaxHeHus.
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